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f&x) =

flx) =(x—5)7°+4

f)=x-=3)(x-7)

fl) =-(x—6)°+4
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013

f(x)=>5log, x




7 8
flx) = x(x +2)?
flx)=7-2%
9 10
f(x) = —x%+10x — 25 _ (x+3)3—x)
fo) = x+3
11 12

1
f(x)=m

f(x) = 5logos(—x)
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fxX)=(x—-6)3—14 f(x) =x%—10x + 25
15 16
fOx)=x2—-x)(x+2) f(X):xj:g
x—3
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fx)=-7-2%

f(x) = 5log,(—x)
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As inputs increase additively
by 1, outputs double.

f(0)<o0

Constant positive change in
the average rates of change
over consecutive equal-length
input intervals and relative
minimum of 4

Constant positive third
differences over equal-length
input intervals and two distinct

zeros

Vertical asymptote at x = 3,
horizontal asymptote at y =1,
x-intercept of x = —3

Constant positive third
differences over equal-length
input intervals and inflection
pointatx = —6

For x > 0, as inputs double,

outputs increase additively by
5.




9

As inputs increase additively
by 1, outputs halve.

f(0) <0

As inputs increase additively
by 1, outputs double.

f(0)>0

Vertical asymptote at x = 3,
horizontal asymptote at y = 0,
hole atx = -3

Vertical asymptote at x = 3,
horizontal asymptote aty = 0

Constant negative change in
the average rates of change
over consecutive equal-length
input intervals and relative
maximum of 4

Constant negative third
differences over equal-length
input intervals and three
distinct zeros




For x > 0, as inputs double,
outputs decrease additively by
5.

Constant positive change in
the average rate of change
over consecutive equal-length
input intervals and relative
minimum of -4

O

Constant negative third
differences over equal-length
input intervals and inflection
pointatx =6

P

Constant negative change in
the average rates of change
over consecutive equal-length
input intervals and relative
maximum of 0

9

Vertical asymptote at x = —3,
horizontal asymptote at y = 1,
x-intercept of x = 3

For x < 0, as inputs halve,
outputs decrease additively by
5.




Constant positive change in
the average rates of change
over consecutive equal-length
input intervals and relative
minimum of O

Constant positive third
differences over equal-length
input intervals and inflection
pointatx =6

Hole at (=3, —6), x-intercept
ofx =3

For x < 0, as inputs halve,

outputs increase additively by
5.

As inputs increase additively
by 1, outputs halve.

f(0)>0

Hole at (—3,6), x-intercept of
x =3
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) lim, f(x) =
Amf(x) = —co lim () =0
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